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OBJECT ORIENTED PROGRAMMING THROUGH C++

e ow . d W | (AR 3 : 70
Time allowed : Three Hours] (Maximum Marks : 70

Pe. () vUm T AAar 3, 99 4 a et A Im dort 1
Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.
(ii) v 53T & gt G ) AR 0 GrY 8 Hord |
Solve all parts of a question consecutively together.
(i) I Yo F 7 98 & IR Fid |
Start each question on fresh pdge.
(v) zﬁwﬁﬁmsﬁﬁ@ﬁﬁaﬁ?ﬁ&@aﬁ@?nﬁ?;

Only English version is valid in case of difference in both the languages.

i (1) C+d Cout%(ﬂi
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(a) TR (b)
(c) M (d) BSERESA
CoutinC++isa _
{(a) object (b) class
(c) function (d) header file
(2) C+t T TR >> FETal &
(a) Insertion HTTT (b) Extraction 3fqteT
(© HleSF (d)  Arithmetic HTL
[n C++ the operalor == is called
(ay [nsertion operator (b) Extraction operator
(c) Object (d)  Arithmetic operator
3) C++ACn¥ 27
(a) TEH AR 4 (b) W $ye Wiy
(c) &L BIEd ) T
What is Cinin C++ 7
(a) Standard outpul stream (0 Standard input stream
(c) Header file @) Class
(1 of 8) P.T.0.
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CS302 (2 of B)
(¢) Ffefign d $1 sffewz (object) Fm 2 -
(@) TR (b) T
ORI (d)
Which is used to create an object ?
(a) Inberitance (b) Integer
(c) Polymorphism (d) Class
(3) ‘U AWM IH T B eRia war d ¢
(a) ™ (b) HAlsAwz
) weRd d) vl
Which represents “single name multiple form” ?
(@ Class (b) Object
(¢) Inheritance (d) Polymorphism
(6) HaEm Aierelien ram am R 7
(@) w9 (b) Alsvtde |
(c) SawEEEm (d) vrefmEhsy
Function overloading is a part of
(@) Class (b) Object
{c) Datahiding ,(d) Polymorphism
(7y PR prguaRuiEeriegrsRae ?
(@) int (b) float
(c) class (d) char
Which is a user defined data type ?
(a) int (b) float
{c) class (d) char
(8) U FATE F1 Bleg HL Gohall & 7
(a) Data (b) Functions
(¢} Data and functions (d) I | Y At
What does a class can hold 7
(a} Data (b) Functions
{(c) Data and functions (d) None of the above
(9) Frafafaa § @ 17 91 & 39 worg H o 2

(a) Class A {inl x ;}
(¢) PublicClass A { }

(b) Private Class B { }
(d) Object A {int x;}

Which of the following is a valid class declaration ?

(a) Class A {intx ;} (b)
(¢) PublicClass A { } (d)

Private Class B { }
Object A {int x ;}
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}{p HEE AT FATH ¥ Fiodar F v w0 % Fm HA? 7
(1) v gy 3fdter (b) Tasmarh s
(c) TR THE Hiater (d) 3w § F B T
Which operator is used to access the object of a class ?
(a)  Scope resolution operator  (b)

(.—-)- Member access operator (d)
(11) Q‘” S FEURUHR 7

Temary operator
None of the above

(a) T HEH (b) weETa

(c) A= d) ™

What is a constructor ?

Aa)  Member function (8. Member data
(c) Object (d) Class

(12) T 5 & 3 W1 %o S R ?
(a) HrHET T o Bl € |
(b) HUEF RIF T B2 |
(€) HuT T AT GHREA RS )
(d) I ah
Which of the following statement is not true 7 -
(a) Constructor is a class. e
(b) Constructor is a static function. .
(c) Constructor is a virtual function. -
,(d) All of the above .

(13) e s afmsas tesha mmﬁm% ?

(a) # (b) ~
© @ (d) $
Which operator is used to declare a destructor
(a) # by  ~
(c) @ d) 3
(14) greugiial feme e am g ?
(a) FEEH (b) wreligiedren
(c) wE d) IR 3t

Which have reusability as main advantage 9
. (2) Inheritance

(b} Polymorphism
{c) Class

P.T.0,
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(16)

(a7
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X 3
ﬁammm@%ﬁgm%mlmsﬁmqﬁﬁmmwg? i
(a) facfioee (b) Eeatie gaw |
(©) Gtitw wee (d) I g
Which n.lcmber can never be accessed by the inherited classes 9
(@). Private member (b) Public member
() Pn:«'reclt:d member (d) All of the above
I 8 ARE B 3ienei 2 TEF e o dopar 2 7
(@ + (b)

(¢} =* (d)
Which operator cannot be overloaded ?
(a) + (b) -
(c) = (d),
Class D : public B, Protected C

{private : int a;};
IR HRaw o o sRfea gufar 2
(a) Tiime gRfe (b) T sHelew
(© el R (d) Afeeede et
Class D : public B, Protected C

{private : int a;};
Which type of inheritance is represented by above syntax ?
(a) Single inheritance (b) Multiple inheritance
.(c) Hybrid inheritance (@) Multilevel inhefitance

(18) CeugHe el FEN & 7

(19)

@) = el wagge S sar |

(b) U FeTrd Fyad Sig Haw 76 eral & |

(c) TP T fored 0 & 0 T Ig AMTH GRA B § |
(d) @rcll T

What is abstract clasg. %

(a) A class with abstract keyword.

(b) A class with no functions in it. |

(c): A class with atleast one pure virtual function.

d) Empty class
%ﬁé%mmm-{ﬁmﬁ%%ﬁw‘%?

(a) ﬂﬁﬁﬁﬁﬂiﬁm%aﬁﬁﬁﬂﬁﬂﬁﬁﬁmﬂﬁmﬂ?@%!
(b) T Folt &1 BT 2 iifen e SRR IR R e BT 2 |
() & EI S ) gorT A dft A W T gl 2 |

d) I 8@ FHE T

Which one of the following is true for an inline function ?

(@) Itexecutes faster because it is treated as a macro. sion.
(®) Itexecutes faster because jts priority is more than normal func

() It does not execute fagter as compared 10 a normal function.
(d) None of the above
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( ‘ mwwf}ﬂﬁﬁaﬁaw% ) 327
(@) intaray [10): :
(c) array {10}, g‘g int array;
Which of the foljows array array [10];
@) . intartay [mfj?mg correctly dcclarcsl anarray ?
(€)  array {103 ’ (b) int array;
(21) inlx=5,y=g 5= (d)  array amvay [10];
@ 30y
ok r
X =S, y=6;z=x++x y. Find the value of z
. _ B 1
- (22) intx=3,y=6,2=5+ (x+y); 2 70 7 HIFR |
,_:_5 (@) 4.5 ®) 4
2 () 0 d 5
= . 1
é mlx:3,3“=6,Z=§*(x+y);ﬁndthevalueofz.
= (@) 4.5 (b) 4
=y () 0 d 5
g 9 S W WIY T TS ) el AT ?
=3 (a) HTOTSHT O (b) Tiang
= (c) Tfam (d) IWrh A Y Big T
o At which time exceptions are caught 7 :
% (a) Compile time (b) Run time
(¢) Linking time (d) None of the above
(24) wATe 3 erdt wig & fe i a1 Hiad w1 AT ?
(a) try (b) throw
(c) catch (d} handler
Which keyword is used to check the error in the block ?
(a) try (b) throw
(c) catch (d) handler

)25 ) g ST e T i R 7
(2) 3T HUA| $ G TE (o) Tom STt (faam uftemen)

©) T FYA & A Wi (d) TR HYU F T
What contains a pure virtual function ?
(a) A body with multiple statements
(b) No body (no definition)
(¢} A body with one statement
(d) A body with four statements

P.T.O.
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(20) T & P wewt @t A vadm forom s e & 4

(c) IS HHH F gul (d) Twa 8 |
How private members of a class can be accessed ?
(3) by normal function (b) by pure virtual finction
(¢) by friend function (d) not possible
(27) T HES H Fawt g S e @ient F v wt ar g wmd a3 3 o
?Z’ (a) ios:app (b) ios::atc
(c} 10s:in (d) ios::out
_» Which mode is used to open a file for reading only 2,
// (a) 1los:app (b) ios:dtec
(c}) 1os:in (d) 1ios::out
(28) C++ 1 SEA FNTAX FHHA BA TR 7
‘@ seckg() ®) tellg))
© seek p() @) IRwwd
Which is a file manipulator function in C++ ?
v(a) seek g() (b) tellg()
© seekp() (d) All of the above

(a) ETHIRI R % g |

(29) fstream FATH % GRT ENNG TSt T F4T ITANT 8l Ghall & ?

(3

0)

() I vgd & foig (b) e fere & fg
) THEREIFHIFY (@) SREARERAE
What are uses of a file declared by fstream class ?

(a) only reading purpose

{(b) only writing purpose

(c) both reading and writing purposc

(d) Nonc of the above

SPTI & JudIm A Bt Y FeE IR A 2 7
(a) wHFAH (b) WA ¥
(c) =Fud TR (d) 390w A A

Which class is created by using template ?
(a) DBase class (b), Generic class
(¢) Derived class (d) None of the above
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Pt fvnfa i
Define the following :
(i) iy
Inheritance
(ii) ‘FHC wHU
Comment statement _
(iii) HHgHI
Constructor .=
(iv) < tﬁ'ﬁ?{w
Generic function
(v) WIge Higd
= File modes < (2%5) | -
30 (i) C++ Suersu Riftm s v Sl EEARY | =
é Explain different data types available in C++. é
= (i) Tl w1 HeRiiEe sa w0 &g W R | =
% “~.. Write a program to calculate factorial of any number. (5+5) %
= o
%4. (), wRiessaamy @@Eﬁwﬂzﬁﬁmfﬁm%mi - E‘
;;,W\ Explain static data member and static function with the help of suitable example 2
% ) (ﬁ)fﬁgWﬁmaﬁmﬁm%m] %
" Explain the concept of friend function with the help of example. (5+5)
() M AaTEnfen H e g qusY |
g Explain function overloading with example.
(i) HfateT NatfEn % w0 fem e 7
What are the rules for overloading operators ? (5+5)
6. () fafw @R Ageier raEEtl
/ Explain different types of inheritance.
(i) T TR & 309 T A & 7 T |
What do vou understand by abstract class ? Explain. (5t5)
PTO. |
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(i) A el TRHEITED
M plain peneue lnnetions
(0 Wt Rl dan R sise sl gy |
What ix exception himdling 7 Fxplion with crample
Q) gt 4 AT A der @ @) Jaied |
1 plain the clagses for file stream operations.
Gy Qe WIgE o) i R 1 i iy fefa )
Wiite a program in C 11 to read i lex! filc.

st farfia v ailign feurforal feilém
Write short notes on {ollowing
(i} OOPs®dAm

Benefits of QOPs
(i) §4¢TTgH et

Inline function
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